= o
N & 0l & AF & E A A
20198 & =04k LBHSIH =olME X & 1t
AN FRMSTA L
FH: 2t B 22 L N (AMI=X/E2E)
thel: 2o ESAY &2 (=& J)
= - _ L=
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
=0l & T2 39,266,302 35,667,576 3,598,726
= 22,004,607
s 336,294
< 4,371,714
Al 12,553,687
=2 B 22 & N (MI=X/EE) 2,025,843 1,754,000 271,843
< 557,824
Al 1,468,019
= ESAY 22 2,025,843 1,754,000 271,843
< 557,824
Al 1,468,019
B2t X3 1,077,200 997,000 80,200
101 1A dl 4,000 4,000 0
M4 JI2ZHZEXNSES 4,000 4,000 0
OSAE & E2AIE EHl 4,000,000& 4,000
201 £B-2%H| 10,000 10,000 0
01 At 22/l 10,000 10,000 0
OBE AR (S8EY @A 2) =X
10,000, 000& 10,000
301 et a3 926,200 847,000 79,200
01 Al EE H =56l = 926,200 847,000 79,200
O8sY RAVNRSA % FHFST HREY
50,000,000& 50,000
O=JI12=H&X o= XA
306,000,000 306,000
OgY EARISA o= XA
451,200,000& 451,200
OdESZdERE dil=< XA 96,000,000& 96,000
O2JEEUaX AHERZS X
6,000,000& 6,000
OFENMRIA AIERZ23 XA 10,000, 000& 10,000
OXEZZRE MTRAZZ NF 7,000,000 7,000
307 glz2+ol & 137,000 136,000 1,000
03 RIZIEHMEH2IHEX 83,000 82,000 1,000
OUEta0IZZ 3 ALEAXIE 234 X2
12,000,000& 12,000
OUESNESZERES MAANXE 2gH XA
12,000,000& 12,000
OUstdES=Z 0l AtEAIXRIE 2948 X
2 12,000,000& 12,000
OstES =&l AtEAIXIS 228 K&
12,000,000& 12,000
OUE YN M3 AAEAIXIE 2S UK
10,000, 000& 10,000
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FOIME XA
20t 22 2ol ¥ N (MB=X/28)
20t BEAY e

= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUstE G EHIE AtEAIXIE 2 HIXH
10,000,000& 10,000
OUste - 5B RS A3 AMEAKXIE 2HHl X
2 12,000, 000& 12,000
oZ=3 IYXNR ARHEX K&
3,000,000& 3,000
04 DIZHHALAISE E X 10,000 10,000 0
O6 - 2583 HMe9=H JIg &AL 10,000,000 10,000
11T MISXAISEEX 44,000 44,000 0
OEEHH MAX =d (80 =)
44,000,000 44,000
EEAMY 22 20,000 20,000 0
201 et 10,000 10,000 0
02 2324l 10,000 10,000 0
03323 ¢ HMAM(MEES=ZH)
10,000, 000& 10,000
401 Al HIZ 2018 10,000 10,000 0
01 A& HI 10,000 10,000 0
OMES=ZE S BE2AME =2 & 22
10,000, 000& 10,000
=ER3A4 A& 4,043 5,000 A 957
< 2,824
Al 1,219
301 et d = 4,043 5,000 A 957
= 2,824
Al 1,219
01 MEI2EZE 06z 4,043 5,000 A Q57
O=gR3k /= 2A=H & 4,043,000 4,043
< 2,824
Al 1,219
6-285HER3X K& 559,200 732,000 A 172,800
< 279,600
Al 279,600
301 et a3z 559,200 732,000 A 172,800
< 279,600
Al 279,600
01 MEIBEE 263 559,200 732,000 A 172,800
06 - 258 8RR IR o= XN
559,200,000& 559,200
= 279,600
Al 279,600
MES=2Z3H &2 =4 50,000 0 50,000
401 AIEHI L 2 CHYI 50,000 0 50,000
01 A& HI 50,000 0 50,000
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Ch: 20 BEEAIY 22 (2 &HH)
5 - 4
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
OANES=2Z2S & =4 50,000,000 50,000
M2 2232 |24 40,000 0 40,000
401 AlEHIZL £ 0HY| 40,000 0 40,000
01 Al&H| 40,000 0 40,000
ONzE2=3 & 2|2dE 40,000,000 40,000
EYEHNR2A A& 275,400 0 275,400
=} 275,400
301 et A= 275,400 0 275,400
=} 275,400
01 M EXE 2562 275,400 0 275,400
OEYENSZA HHE X
275,400,000& 275,400
o 275,400
=SB (AISIEX /I =NMELE) 35,377,372 32,049,854 3,327,518
= 22,004,607
Fag 336,294
= 3,813,890
Al 9,222,581
=01)|xME YA 17,091,351 15,826, 138 1,265,213
= 13,237,196
& 1,960,775
Al 1,893,380
MAS O 15,223,683 14,298,011 925,672
= 12,178,947
= 1,522,368
Al 1,522,368
301 et A= 15,223,683 14,298,011 925,672
= 12,178,947
& 1,522,368
Al 1,522,368
01 Al B & A 462 15,223,683 14,298,011 925,672
OMAZ N 15,223,683
o bt 14,278,683,000 14,278,683
= 11,422,947
& 1,427,868
Al 1,427,868
o A& 945,000,000 945,000
= 756,000
& 94,500
Al 94,500
n=2 36,061 36,285 N224
308 AMXISHMSOIA 36,061 36,285 N224
08 W=EJl&otistEx 36,061 36,285 N224
onsz20 36,061,000 36,061
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17,472
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174,716
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= M

46,800

23,400
23,400

44,200
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Al

46,800

23,400
23,400

44,200
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OMBISXAIE SAK =5 X3

46,800,000

H
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46,800

46,800

23,400
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44,200
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870,362
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FoMs
M I =MEBF(MIISX/I=MEEE)
Sl RODIEMHESY CEEEED
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
< 261,112
301 LEtE A= 870,362 768,184 102,178
= 609,250
< 261,112
01 MEIBEZE 05z 870,362 768,184 102,178
O=gaA 29H XA 870,362,000& 870,362
= 609,250
< 261,112
C=Q0AE FHALR 218 XA 20,942 14,400 6,542
< 10,471
Al 10,471
301 YerE A3 20,942 14,400 6,542
< 10,471
Al 10,471
01 MEIBE X263 20,942 14,400 6,542
OLHAL AR 22 X
20,942,000& 20,942
= 10,471
Al 10,471
C=0AEIEsEY 137,640 0 137,640
= 68,820
< 34,410
Al 34,410
402 RIZEX20l ™ 137,640 0 137,640
= 68,820
< 34,410
Al 34,410
02 RIZEXt 2 AL EZ (01X ) 137,640 0 137,640
OL=AZT AL IS 137,640,000 137,640
= 68,820
< 34,410
Al 34,410
C=0AE 2AERSA 2Y 10,000 10,000 0
301 g2 d= 10,000 10,000 0
01 MI28E +06l= 10,000 10,000 0
OL=0ANAE dAEBSA 298 K&
10,000, 000& 10,000
Mol =5 59,600 22,300 37,300
< 59,600
201 Let24d] 45,600 0 45,600
< 45,600
01 At 2teltl 45,600 0 45,600
OYANZEHAIL TR M= 45,600,000 45,600
< 45,600
301 L2 A= 2,000 1,020 980
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SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
= 2,000
09 SHAIAHI B A2 2,000 1,020 980
OMal& W= 2,000,000& 2,000
= 2,000
302 Ol =L Mo E &S 12,000 21,280 A9,280
= 12,000
02 QoI THOHL ERESE M= 12,000 21,280 N9,280
O0lMe RS 12,000,000& 12,000
= 12,000
HE HH2 02 92 60,000 60,000 0
301 LBt A= 60,000 60,000 0
01 Al E & A 452 60,000 60,000 0
OYH(4,24) S A2 A AR
60,000,000 60,000
MASSXYE st e 40,640 45,800 N5,160
= 12,192
Al 28,448
301 et A= 40,640 45,800 N5,160
= 12,192
Al 28,448
01 Al E& A %52 40,640 45,800 AN5,160
OMASESANE e HeEZ 40,640,000 40,640
= 12,192
Al 28,448
MASSSIM DY KA 31,500 22,399 9,101
101 Q124 H] 27,720 19,711 8,009
04 JI2ZtHIZ22NEE S 27,720 19,711 8,009
OMASESIM WU KNFAE 27,720,000 27,720
201 et 3,780 2,688 1,092
01 AP 22| H| 3,780 2,688 1,092
ONAESSHM W=EHl XNAS 3,780,000& 3,780
ASFEHS K3 27,500 23,500 4,000
201 et H9d| 16,000 16,000 0
01 A2t 2| bl 4,000 4,000 0
OBt 2H| 4,000,000& 4,000
02 Z2=2=24%94| 12,000 12,000 0
03322 % HA 8,000,000 8,000
OXgHed| 4,000,000& 4,000
301 Lt A= 11,500 7,500 4,000
01 Al E & A 452 11,500 7,500 4,000
Osied Ab AHIF ¢yl 1,500,000 1,500
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSHD AIYX ZelldHl & Sota X2
10,000,000& 10,000
Al =XD1eE =4 K& 41,000 44,000 A 3,000
201 £B-2dH| 14,000 14,000 0
01 At 22l 14,000 14,000 0
O 2 Et==EH| 10,000, 000& 10,000
O =&l 4,000,000 4,000
202 04l 23,000 26,000 A 3,000
01 S LHOIYI 23,000 26,000 A 3,000
O=2A=Z NI 23,000,000& 23,000
203 R =&t 4,000 4,000 0
03 A F=XH R =AY 4,000 4,000 0
OEsgd® =& 3,000,000& 3,000
CFMe=XER =& 1,000,000& 1,000
M2 SXAL B2 W=H| 6,000 3,000 3,000
301 LAz 6,000 0 6,000
12 JIEtE& = 6,000 0 6,000
OMEIEXIAL 2= W=HI| 6,000,000& 6,000
ANAAMesXHE=8 37 S 20,000 30,000 A 10,000
207 A O H] 20,000 30,000 A 10,000
01 289 20,000 30,000 A 10,000
OHM4Jl XNSMBEE HIE HE =8 21X
M2 TE Y 20,000,000& 20,000
S TA22 X 5,000 5,000 0
201 £B-2dH| 5,000 5,000 0
01 At 22l 5,000 5,000 0
OSEXZAI 22X A 5,000,000& 5,000
HAsEE MY d&EH=s N2 35,000 0 35,000
= 17,500
Al 17,500
301 et d = 35,000 0 35,000
< 17,500
Al 17,500
01 MEIBEZE+05l= 35,000 0 35,000
OMASXNHYEEHS 35,000,000& 35,000
< 17,500
Al 17,500
HAEE MHEXH 2,272,594 1,824,714 447,880
=2 1,442,446
s 123,152
< 219,809
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04 JIZtNZ22XNSE+
oxgzz
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= N H
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31,796
74,190
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= N H
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3,200
240
560
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ZAY SN SF 2

4,000,000

= H W
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4,000
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0
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41,400
96,600

490,000

200,000
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121,596 118,598 2,998

60,798
Al 60,798
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101 @128l 121,596 118,598 2,998

60,798
Al 60,798

H

04 DIt Z22XSE* 121,596 118,598 2,998
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60,798
60,798
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MHASATAMG (BYISSET, ) 162,994 169,494 6,500
130,395

9,780
22,819
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307 21201 A 162,994 169,494 6,500
130,395

9,780
22,819
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05 QIZt2IE =3 162,994 169,494 A 6,500
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1,166
2,721
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962
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5,556
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30,919
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
(OPAT =R PNE-PNela] 2,000,000& 2,000
= 1,400
< 180
Al 420
NEAXEE MIMHEIA EXAIG (OHARIE S 2E 20| 175,932 210,671 A 34,739
Ae)
s 123,152
< 15,834
Al 36,946
308 X EHSOIA 175,932 210,671 A 34,739
s 123,152
< 15,834
Al 36,946
10 37/ 2S0HUHeBHEAEALS I 175,932 210,671 A 34,739
QItAL - 2t Y2&E<0] AFY 175,932,000 175,932
s 123,152
= 15,834
Al 36,946
NATEHEH SFME ALY 23,275 0 23,275
= 16,292
< 2,095
Al 4,888
402 RIZERt20l ™ 23,275 0 23,275
= 16,292
< 2,095
Al 4,888
02 RIZE X2 AL EZ (OIS ) 23,275 0 23,275
OXNGAX&HH SHIHS 23,275,000 23,275
= 16,292
< 2,095
Al 4,888
e ASSH 97,102 0 97,102
= 77,682
< 5,826
Al 13,594
301 LAz 97,102 0 97,102
= 77,682
< 5,826
Al 13,594
01 MI2ZE 6= 97,102 0 97,102
ongzea X 97,102,000& 97,102
= 77,682
< 5,826
Al 13,594
TEAY MaRE ARl SHS 25XA 15,000 0 15,000
< 7,500
Al 7,500
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M I =MEBF(MIISX/I=MEEE)
@2 HASE HEXE (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
402 BI2FX=01 M 15,000 0 15,000
= 7,500
Al 7,500
02 QI EASEZ (01X ) 15,000 0 15,000
OXEAIY MAH dTjel SRS 2=
15,000, 000& 15,000
< 7,500
Al 7,500
S|U=X XA 1,184,648 1,201,755 A17,107
2 294,934
s 213,142
< 91,138
Al 585,434
R SAKE 201,600 191,600 10,000
201 Let249H] 24,000 24,000 0
01 At 22l 6,000 6,000 0
O Et==EH| 4,000,000& 4,000
ozg=+¢ 2,000,000& 2,000
02 =24l 8,000 8,000 0
0z22= % HMA 8,000,000 8,000
03 &Ar2 I 10,000 10,000 0
Ofe NEASAA A= 10,000, 000& 10,000
301 et A3 4,000 4,000 0
09 A HIE &S 4,000 4,000 0
O&= -5 XNASAXCHE EIHA AH 24
2,000,000& 2,000
ONMASAES R=dH AS FIIA AHEY
1,000, 0002 1,000
ORESAR o4 L ATS HIR AHl 24
1,000,000& 1,000
307 21201 A 173,600 163,600 10,000
02 QB AAFEX 20,000 20,000 0
OMEAl RS ASME2AS X
20,000,000& 20,000
04 QIZFHALAIH B = 20,000 20,000 0
OX&ASALA BtotS U3l 20,000,000& 20,000
11T M SXAIS EX 133,600 123,600 10,000
OAg e dHEUSII 30,000,000& 30,000
OHHA2AMO L&t X 16,800, 000& 16,800
SHS TASAM SH3MY X
16,800, 000& 16,800
oxFg=Xezs KA 70,000,000& 70,000
THEEA 2L X 14,200 14,200 0
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M JZMEDE(MSN/IIZNERE)
@2 =X XA (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 4,700
Al 9,500
201 LBt 9| 12,000 12,000 0
= 3,600
Al 8,400
01 AP 22| H| 8,000 8,000 0
OXNIEAN E43 X& 8,000,000& 8,000
& 2,400
Al 5,600
02 2%l 4,000 4,000 0
OXNEESAI 243 XS 4,000,000& 4,000
& 1,200
Al 2,800
301 LBt A= 2,200 2,200 0
& 1,100
Al 1,100
09 SHAIAHI B A2 2,200 2,200 0
O XNEESALAH A4 2,200,000& 2,200
o= 1,100
Al 1,100
NAE2A 2OUHOIH X - SH(XH) 55,261 47,031 8,230
= 27,618
= 7,318
Al 20,325
101 21 214| 55,261 47,031 8,230
= 27,618
& 7,318
Al 20,325
04 JI2tHIZ22NSEES 55,261 47,031 8,230
OXNKZEA ZOUOH XY - E4(XY)
55,261,000& 55,261
= 27,618
o= 7,318
Al 20,325
ANSEALE JIZEHMZ22 X 2124d] K& 37,000 0 37,000
101 2121 4| 37,000 0 37,000
04 JIZtHIZ22XNSES 37,000 0 37,000
OXSSAHEEH ZFET J|I2tHZ22 X
30,000,000 30,000
OXNIA=SA ZCIYIOIOIH HXgEaY S
7,000,000& 7,000
d=2 E& NF2EANEE I HHlA K& 6,222 5,938 284
= 3,104
& 931
Al 2,187
201 2Et24Hy| 6,222 5,938 284
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SA BB (SH) - NRAY - B Ol At o %@i HRE2
= 5,000
Al 24,000
307 2iz2to| A 30,000 30,000 0
< 6,000
Al 24,000
11T AISIEXAIEEX 30,000 30,000 0
OXNGAMIIBEHEAMY 2FH K&
30,000,000 30,000
& 6,000
Al 24,000
KNEAEEESEM 29 (XA 61,000 33,000 28,000
201 Yet2 | 11,000 11,000 0
01 AP 22| H| 11,000 11,000 0
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Al 300
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= 2,813
= 2,812
LTINS FAHESHUAXR 56,395 0 56,395
2 39,477
< 8,459
Al 8,459
308 XXM S0 A 56,395 0 56,395
2 39,477
< 8,459
Al 8,459
1037/ 2S0HUHSBAEEALS I 56,395 0 56,395
OLg el F=2&sHA XA
56,395,000 56,395
2 39,477
= 8,459
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AN FRMSTA L
Y JZMEST(MIASX/INEZNE2H)
ol Zoj=XEA CER-ED
— SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
| Al 8,459
LEHMC LU= SSMHEAXA 37,600 0 37,600
= 26,320
< 5,640
Al 5,640
308 XXM S0 A 37,600 0 37,600
= 26,320
< 5,640
Al 5,640
1037/ 2S0HUHeBHEAEALS I 37,600 0 37,600
oggae Zs ssAHHA X
37,600,000 37,600
= 26,320
< 5,640
Al 5,640
Hees (= HaXn) (MISX/IIZHEEH) 1,746,827 1,747,602 ATT5
HEHHKE 1,746,827 1,747,602 ATT5
Bt AN ES 1,682,227 1,747,602 A 65,375
701 JIEtSI HSEEES 1,682,227 1,747,602 265,375
01 JIEtSIHE &3 1,682,227 1,747,602 A65,375
C2d=z=20IIz EE3H HES
1,682,227,000& 1,682,227
JI3NES 64,600 0 64,600
702 )I3BHEES 64,600 0 64,600
0MII3dE3 64,600 0 64,600
OJllzda2dssSkt ¥l &3
64,600,000& 64,600
HY2AZY(FAMEX 2 D) (IIEH/DIE 116,260 116,120 140
el 2 gl 5,320 5,120 200
ol 2AH| 5,320 5,120 200
101 @144 dl 5,320 5,120 200
03 RIAHAZZ T E += 5,320 5,120 200
Ozt ZelAtY 5,320
o Z A G A 2,400,000 2,400
o H A FOHI 2,200,000& 2,200
CHRXHLY 720,000 720
Jl2Zl 110,940 111,000 A 60
JlE2ztl 110,940 111,000 A 60
201 Let2dE] 12,000 12,000 0
01 At 22l 12,000 12,000 0
O gBt=+=&H| 8,000,000& 8,000
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AN FRMSTA L
M HE2AZH(FUMEXZD)(IIEH/IIE)
& 123l (chel & 9l)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O= &l 4,000,000& 4,000
202 oddl 94,080 94,080 0
01 = LH 4 1l 94,080 94,080 0
O2UEF I 280,000 x28H »12& 94,080
203 YR =&l 4,860 4,920 260
04 FEXNSEHE=LH| 4,860 4,920 260
ORN2IYSZ=AHI 405,000& x12& 4,860
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